
Higgs Invisible 

���� �� ��

��0���D,&G$DE�8H�1DB"

5%C�2$%�8

5 �.D 8��� ��% 8��. �1I8C 8��5 ��DI 8���:��� ��8D !��
2 �,JDH%G$B8H% ���� ��$"C "�
 ��8C# "��. ��8C# "

8	����0� �
2���$%C8
�	�� �
8AA8G���2

:	����
2���$%C8
!	���������2
�
"	 0"&%C# ����$%C8



�������

• �����
�	�����
• ������	��������
•  �������������
• ����������
�������


�



.DI-+!0:I&+D
• 3%"�-&$$H�!":�4H�&D1&H&�B4�&D�20

&H�1&��#+0-�D"0I-&D+H�
L&I%�)15�	M	��%��

• 0�4�D"L�F%4H&:H��"4+D!�20�
H0$$"HIH�"D%�D:"C"DI�+#�&D1&H&�B"�!":�4
"�$�
�-&$$H�F+-I�B�C+!"BH�+#�!�-A�C�II"-� �0��
&DI"-�:I&+DH�

• �-��H"�-:%"!�&D1&H&�B"�-&$$H�!":�4�I%-+0$%��-�
�D!��),� ��#+-���+-����
(3�(2�5�4��
%����02�5�4��
���#+-�)1 -6&D1�

%



)���&��"C�&��:4�#"��
+�
• �
+��*#%��0'��	���
��(4-�

• )���& �#&#" $%#�(2'�#"� �) ��#!�"0"' � �� 5(&�#"� �� 5(&�#"

• �4::��"#*"��"�'�0:�&'0'4&���40!�4"4%�E�0"��$#:0%�,0'�#"� �0'�4�4� 2#::��4%

• �" �)� '�4 :4$'#"�2 �420E #5 � �#&#" 20" �4 *4:: %42#"&'%(2'4�

• ,42#�:�!0&&��

• )���&�!0&&�0"���)�$%#�(2'�#"�2%#&& &42'�#" 20"��4�!40&(%4��!#�4:��"�4$4"�4"':E

	



�
���1"!13#&'����3&31&"$
• ("��"(3���3%�5!�"��)*�

• �"����1�&�"!%
�
• -3&'$!�."�3
�$3�'13���C��:��!"&�#'%��#'���"#3$�&�"! �
• *��$3�'13��&"���	:����	:��"$�)*� 

	

Expected performance
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Scheme for simulation and analysis
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The precision of the cross sections of Higgs decaying to invisible  final states 
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• The simultaneous fit is adopted to measure the branching ratio, which is
defined as the ratio of the signal yield to the SM production assuming BR(H-> 
inv) = 100%. 

Input-output test
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